Sr Questions Answers Choice

. China it length is 634 km
. India

. Japan

. None of them

1 Makran coastal Highway project is being completed with assistance of?

. Pakistan
. Japan

. India

. China

2 Kohat Tunnel Project was completed with the financial aid of?

. Lahore
. Karachi
. Islamabad
D. Multan
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3 Pakistan's biggest and most powerful Radio Station is?

A. A temporary increase in the prices
of currency

B. A temporary increase in the prices
of several goods

Aand B

. None of them

4 Inflation may be defined as?

1.9%
1.7%
2.3%
1.5%

5 What percentage of GDP is spent on Agricultural Research in Pakistan?

Karachi

. Faisalabad
. Islamabad
Multan

6 Which division of the Punjab produces maximum Sugarcane crop?

16%
14%
18%
13%

7 The share of Cotton crop in the total crop cultivated area of Punjab is approximately?

Karachi
Peshawar
Lahore
Rawalpindi

8 In which division of Punjab the ratio of females in population is 10% more than males?

1981
1982
1983
1984

9 In which of the following years Agha Khan Medical University Karachi was established?

Karachi

. Peshawar
Lahore

. Rawalpindi

10 In which Division of Punjab the ratio of males and females is equal?
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